127272004

EXIST. CURVE 12IRAMPD-1
P1 STA. = 63499.85

A= 47° 467 30 (RT)

T 32" 20"

760.00"

336,59

633.71"

71.20"

0.08 FT/FT

TR TR TR T

— O M 40O

1%
]
ol
<
=

!

P.C. STA. = 80+63.26
P.T. STA. = 66+96.98
SUPERELEVATION

S.E. TRANS = 192 FT

EXIST. CURVE 121RAMPA-1
PI STA. = 31+05.65

= 47° 47 527 (LT

12° 19 18"

465.00"

206.05"

387.92"

43.61

0.08 FT/FT

TR TR

N=HOMT =0T

. RUN =
P.C. STA. = 28+99.60
P.T. STA. = 32+487.52

SUPERELEVATION

EXIST. CURVE 121RAMPD-2
PI STA. = 71+97.51

A= 58° 317 187 (LD
D = 12° 19 18"

R = 465,00

T = 260.5%

L = 474.95

£ = 68.01

e = 0.08 FI/FT

TR = .

S.E. RUN = _____
P.C. 69+36.98

»
1
>

o

P.T. STA. = T4+11.93

SUPERELEVATION

S.E. TRANS = 168 FT

EXIST. CURVE 121RAMPA-2
PI STA, = 39+17.88

= 54° 22 22" RD)

7° 32" 207

760,007

390.367

721,23

94.39

0.08 FT/FT

DA M ATOD

OMD g v

. STA. = 35+27.52
. STAL = 42+48.75
SUPERELEVATION

T
i

EXIST. CURVE 121RAMPC-1
PI STA. = 609+74.19
A= 172° 34" 30" (RT)

D = 20° 50" 05"
R = 275.00
T = 4,238.19
L = 828.30
£ = 3,972.10
e = 0.08 FT/FT
TR, = ___
S.ECRUN =

P.C. STA. = 567+36.00
P.C.C. STA. = 575+64.30

S.E. TRANS = 156 FT

EXIST. CURVE 12IRAMPB-1
Pl STA. = 530+99.09
A= 12° 597 58" (RT)

D = 7° 32 207

R = 760.00"

T = 86.59

L = 172.43

E = 4.92

e = 0.08 FT/FT
T

S.

P.

P.

aonoa

"

R.
E.
C. STA. = 530+12.5]

C.C. STA. = 531+84.94

EXIST. CURVE 121RAMPC-2
PT STA. = 576+57.62
A = 14° 007 027 (RD)

D = 7° 32 20"

R = 760.00'

T = 93.32

L = 185.71"

E = 571

e = 0.08 FT/FT

TR =

S.E. RUN = _____

P.C.C. STA. = 575+64.30

P.T. STA. = 577+50.01

EXIST. CURVE 121RAMPB-2
PI STA. = 532465.69
A= 23° 59 597 (RT)

= 15° 04’ 53"

= 379.91

80.75"

159,13"

8.49"

0.08 FT/FT

N—Ho MM —X0
Towowouow
i

531484.94
P.C.C. STA. = 533+44.07

EXIST. CURVE 121RAMPB-3

PI STA. = 540421.93

Az

TR (AT T

P.C.C. STA. = 533+44.07

P.T. STA. = 540+36.57

132° 157 127 (RT)
19° 05" 537
300.01

677.86"

692.50"

441.27"

0.08 FT/FT

SUPERELEVATION

HORIZONTAL ALIGNMENT

END OF PROJECT

STATION 861+36.68

FAL TOTAL [SHEET
RTE,| SECTION COUNTY  |SHEETS| No.
72 B MACON | 135 | |7

* (58-62,58-62-1,58-63)RS
CONTRACT NO. 90879

N

S.E. TRANS = 168 FT S.E. TRANS = 192 FT S.E. TRANS = 156 FT

EXIST. CURVE 72-8-1 EXIST, CLRVE 72-8-2 EXIST. CURVE 72-8-3

P1 STA. = 2753+35.46 PT STA PI STA. = 2833+94.86
A= 4051 327 AT A= o= 80187 037 (LD
D = 0° 307 007 D= D = 0° 30" 60"
R = 11,459.16' R = 4,582.66' R = 11,458.20'
EXIST. CURVE 1LL121-1 EXIST. CURVE 1LL121-2 T = 486.19 T = 2,514.54' T = 83L46
PI STA. = 875+72.43 PI STA. = 887+71.54 S L = 971.807 L = 4.28€.67 L = 1,660.00°
A s 5005 01 LD A= 3035 237 (T E = 1031 E = 55122 E=3003
D= 00 92 377 b - 6 507 317 e = 0,0156 FT/FT e = 0.040 FT/FT e = 0.0156 FT/FT
- s . - ! TR = . TR = TRz
? - 16375%%48 $ : ]562’57‘%30'?8 S.E. RN = _____ S.E. RUN = _____ SE.RUN = _.___
L = 1,349.12" L - 1.049.65' P.C. STA = 2748+49.27 P.C. STA = 2774+74.58 P.C. STA = 2825+63.40
P F - o8op P.T. STA = 2758+21.07 P.T. STA = 281746125 P.T. STA = 2842423.41
& = NONE e = 0.02FT/FT (ER ONLY) SUPERELEVATION SUPERELEVATION
TR, = TR, = o ATTAIN: ATTAIN:
S.E. RUN = . S.E. RUN = _____ STA. 2746+83.00 TO STA. 2749+29.00 STA. 2824+04.00 TO STA. 2826+44.00
P.C. STA. = 868+97.43 P.C.C. STA. = 882+46.55 STA. 2757+41.00 TO STA. 2759+81.00 STA. 2841444.00 TO STA. 2843+84.00
P.C.C. STA. = 882+46.55 P.T. STA. = 832+96.20 *OUTER LANES RETAINS 0.021 FT/FT SLOPE *QUTER LANES RETAINS 0.021 FT/FT SLOPE
SUPERELEVATION
ATTAIN:

STA. 886+58.00 TO STA. 888+433.00
STA. 892+58.00 TO STA. 894+33.00

EXIST. CURVE 72-7-2

f EXIST. CURVE 72-7-1
£XIST. CURVE CH39REL-1 EXIST. CURVE CH3SREL-2 EXIST. CURVE CH39REL-3 PI STA. = 1751+64.25 PI STA. = 1796+64.12

Pl STA. = 2+27.01 PI STA. = 7+23.49 Pl STA. = 12450.18 A= 3°30° 00" (RT) A= 36° 55° 25" (RT)
o= 270167 597 (LT A= 51° 367 577 (RT) A= 24° 19 587 (LT) D = 0° 30" 00" D = 1° 15’ 00"

D = 12° 30' 00" D = 12° 30" 00" D = 12° 30’ 00" R = 11,459.16¢ R = 4,583.73'

R = 458.37' R = 458.37' R = 458.37’ T = 350,11 T = 1,530.30°

T = 1124 T = 22166/ T = 98.82° L = 700.007 L = 2,953.93

L= 21827 L = 412,93 L = 194.66° £ = 535 E = 248.70°

£ = 1331 E = 50.78’ E = 1053 e = 0.0156 FT/FT e = 0.040 FT/FT

e = 0.08 FT/FT e = 0.02 FT/FT e = 0.02 FT/FT TR = eee TR = .

TR = . TR = ooe TRo= . SE. RUN = ... S.E. RUN = _____
SE.RUN = _____ S.E.RUN = .. S.E.RUN = ____. P.C. STA = 1748+14.14 P.C. STA = 1781+33.82
P.C. STA. = 1+15.77 P.C. STA. = 5+01.83 P.C. STA. = 11451.36 P.T. STA = 1755+14.14 P.T. STA = 1810+87.75
P.T. STA. = 3+34.03 P.T. STA. = 9+14.76 P.T. STA. = 13+46.03 SUPERELEVATION

SUPERELEVATION SUPERELEVATION SUPERELEVATION ATTAING

ATTAIN: ATTAIN: STA. 1746+54.00 TO STA. 1743+44.00

STA. 0404 TO STA. 1472
STA. 2+78 TO STA. 4+46

STA. 4+46 TO STA., 5+46
STA. 8+63 TO STA. 9463

STA. 11441 - 12+41
STA. 13400 - 14400

STA. 1754+34.00 TO STA. 1756+74.00

EXIST. CURVE 72-8
PL STA. = 693+27.47

EXIST. CURVE 72-7
P1 STA. = 558+83.38

A= 38° 00 517 (RT) A= 10 35 527 (RT)

D = 1° 30" 00" D = 0° 15 00 0
R = 3,819.71 R = 22,918.54

T = 1,353.16" T = 1521807

L = 2,600.94’ L = 3,039.14’

£ = 232.60° £ - 50,47 MATCHLINE “B”
e = 0.044 FT/FT e = 0.0156 FT/FT

TR = o TR 5 .

SE. RUN = _____ S RUN = _____

P.C. STA = 545+30.22 P.C. STA = GTBH05.67

P.T. STA = 57143116 P.T. STA = 708+44.8)

SUPERELEVATION SUPERELEVATION

ATTAIN: ATTAIN:

STA. 543+97.22 TO STA. 545+97.22
STA. 570+64.17 TO STA, 572+64.17

STA, 676+72.69 TO STA. 678+72.69
STA. 707+477.83 TO STA, 708+77.83

ciprojects\d50I79T\alignment.dgn




